
Monday—Week 16 SUPER SIX! Name

O 4 9 6 0 Rename as a e The Stormer Bicycle Company has a goal

6 . 8 mixed of making 702 bicycles. If they make

number: 78 bicycles per day, how many days will it

27
take them to reach their goal?

8 — M = Mark all information

A=_________

P=

__________

s=

_________

o 16.9 0 9120 042 161_
— 4.0 — 841 12

.
Tuesday—Week 16 SUPER SIX! Name

7 3 6 0

_______

0 The price of soda is $5.99 a pack, and the

x 0 1 6 ) 34 2 price of chips is $2.29 a bag. Melissa
purchased four packs of soda and eight
bags of chips. How much did she spend
for those 12 items?

M = Mark all information

A=

_________

P=

_________

S=

_________

o 7.07 0 17 029x8=

+ 8.10 15
2

-i- .
+ Decimal Mult: Up to I total decimal place in the factors E — 63 ©2004 Achievement Learning Professionals



Wednesday—Weekl6 SUPER SIX! Name

+0 5 . 2 0 3 4 7 0 The Gonzales family went to the movie.

x 9 3 x 3 The purchased 2 adult tickets, 2 student
tickets, 3 large sodas and 1 medium
soda. How much did the Gonzales
family spend at the movies? (See T4)

M = Mark all information

P=

__________

S=

_________

o 19 0

_____

0 Simplify:

g 37)1651 5

15

.
Thursday—Week 16 SUPER SIX! Name

+0 9 . 7 0 Rename as a 0 Tommy had 546 cards in his collection.

2 0 mixed number: He gave 57 to his brother. How many
cards did Tommy have left in his
collection?

8
M = Mark all information

A=_________

P=

_________

S=

_________

0

____

0 13.9 0100x74
15)432 55.2

+ 4.3

.
+ Dedmal Mult: Up to I total decimal place in the factors E — 64 ©2004 Achievement Learning Professionals



Monday—Week 17 SUPER SIX! Name

1 5. 0 0 7. 5 0 The fifth grade lunch period ends at

— I 2 2 4 6 12:10 p.m. If they are given 25 minutes to
eat, what time does the fifth grade lunch

period begin?

M = Mark all information

A=_________

P=__________

s=

__________

0 2 9 . 65 0 4 58 0 Simplify:

46.22 x 200 10

+ 71.46

.
-Tuesday—Weekl7 SUPER SIX! Name

7 4 . 0 0 0 9 1 0 Which three months of the year had the

— 5 5 . 8 2 7 3 lowest attendance at Centerville’s movies?

+ 86
(SeeGl)

M = Mark all information

A=_________

P=

_________

s=__________

0 35 0 23.9 0458÷6=

—18--f--
— 11.0

5

.
+ Decimal Subtraction: Whole number — decimal E — 65 @2004 Achievement Learning Professionals



Wednesday—Week 17 SUPER SIX! Name

. O 8 1 6. 0 0

_______

0 Madava has 1,469 baseball cards and
— 9 8 7 4 ) 2216 296 football cards. How many more

baseball cards than football cards does
he have?

M = Mark all information

P=

__________

s=__________

ORenameasa 0 485 0603x0.4=
mixed number: g 0 1
30 + 813
4

.
Thursday—Week 17 SUPER SIX! Name

4 3 3 . 0 0 0 8 1 9 0 There are 12 inches in a foot and 3 feet
— 1 3 9 5 6 7 6 in a yard. Jason threw a football

54 yards 2 feet. How many feet did he
throw the football?

M = Mark all information

P=

__________

s=

__________

o 0

____

0889÷17=
4 12)$9.84

5
+—

8

.
+ Decimal Subtraction: Whole number — decimal E — 66 @2004 Achievement Learning Professionals



Monday—Week 18 SUPER SIX! Name

6. 7 0 0 9 0 . 0 0 Each elementary school in the school

— 4 9 6 — 2 3 6 district has 51 computers. If there are
39 schools in the district, how many
total computers are in the 39 schools?

M = Mark all information

A=_________

P=

_________

S=_________

o 92 0 47 019x7.2

2 + 568

10

Tuesday—Week 18 SUPER SIX! Name

<0 11 . 9 6 0

______

0 In 1950 how many more people were

— 7 5 0 ii) 6 2 9 living in California than in Idaho and
Nevada combined? (See TI)

M = Mark all information

A=_________

P=

__________

S=

__________

o Simplify: 0 8.89 0 5
32 + 37.20 16 16 16

48

.
+ Decimal Subtraction: Up to 2 decimal places E — 67 @2004 Achievement Learning Professionals



Wednesday—Week 18 SUPER SiX! Name

. O 4 . 0 3 0 2 0 Mr. Carter’s class goes to art at

— 3 7 2 9:15 a.m. The class ends at

3
10:20 a.m. How long is the class?

±—
6 M = Mark all information

A=_________

P=

__________

s=

__________

o 58 0

____

0625—19.6=

2.9 4)566

.
Thursday—Week 18 SUPER SIX! Name

7.4 0 822.00 0 HowmanymorepeopleliveinTroy

— 3.5 — 810.68 thanhiveinGoodland? (SeeG2)

M = Mark all information

A=________

P=

__________

s=_________

0

___

0 3 09 4_
76)559 w 20

2

±—& .
+ Decimal Subtraction: Up to 2 dedmai places E —68 ©2004 Achievement Learning Professionals



Monday—Week 19

O O 84--
9

9

SUPER SIX! Name

0 260 — 91.7 =

Tuesday—Week 19 SUPER SIX!

6
+3—

16

Name

.

0 52.60
— 16.30

O Miss Farr jogged 2 3/4 miles on Monday •
and 3 1/2 miles on Tuesday. How far did
she jog in those two days combined?

M = Mark all information

P=

__________

s=

_________

o Renameasa 0 6.3
mixed 7.5
number: ÷ 7 9
27
6

321 0

____

18 7)4960

-11--
18

0 923 08
x 4.8

• Dan charges $1.35 for an ice cream cone
and $1.05 for a cup of ice cream. He sold
75 of each today. How much money did
he collect for cones and cups today?

M = Mark all information

A=________

P=

_________

s=

________

0 73.9 — 5.7 =

E —69

.
+ Fraction Subtraction: Mixed numbers

(like denominators, no borrowing)
@2004 Achievement Learning Professionals



Wednesday — Week 19

•° 531
40

-42-p-
40

SUPER SIX! Name

o 607.0

— 503.8
o 23

x 12
0 64.3 — 46.82 =

Thursday—Week 19

_37i
5

SUPER SIX! Name

.

0
26)152

07
4
3

4

E —70

051+67+839=

©2004 Achievement Learning Professionals

0
60)20 0

0 The Johnston family drove 1578 km in
three days. What is the average
amount they drove each day?

M = Mark all information

A=_________

P=

__________

s=

68
5

0 21.71
— 11.75

0 David bought fifteen small bags of
candy. Each bag cost $1.98 including
tax. How much did David spend on the
bags of candy?

M = Mark all information

A=_________

P=

__________

s=

______ ___

+ Fmction Subtraction: Mixed numbers
(like denominators, no borrowing)



Monday-Week 20 SUPER SIX! Name

• O 24 — 0 8 0 There are 54 fifth graders at
— x — • 8 Bluemonte. Each student needs a

new marker for a project. If their

+ g teachers buy the markers at the

12 school store, how many boxes will
they need to buy? (See T2)

M = Mark all information

S=

_________

o 79 0 80.0 0 27.5— 12.72 =

x 9.8 21.8
+ 37.8

.
Tuesday—Week 20 SUPER SIX! Name

O 27 — 0

_______

0 Jessica had $10 to spend at the
X

— 44) 3 7 2 book fair. Amy had $8.15 to
spend. What is the difference in
the amount of money they had
to spend?

M = Mark all information

A=

__________

P=

___________

S=

___________

o 859.0 ORenameasa 0587+954=

— 9. i mixed number:
15

.
+ Fraction Multiplication: Whole number x fraction <1 E —71 ©2004 Achievement Learning Professionals



Wednesday — Week 20 SUPER SIX! Name

•+0 2
> 100 — 0 3 6 3 0 Craig worked for 9 1/2 hours

5 — — 7 4 (including time for lunch) building a
deck. He stopped working at
4:10 p.m. What time did he begin
working?

M = Mark all information

A=_________

P=

__________

S=

__________

o 49.55 0

____

0 1 1
— 7.52 6)569

.
Thursday—Week 20 SUPER SIX! Name

+0
.. x 18 — 0

906
9 0 What was the least popular flavor in

8 —

fifth grade? (See G3)

— 506 M = Mark all information
10

P=

__________

S=

_________

o 412 0 8.17 0756÷8=
342 — 2.00

• ÷710

+ Fraction Multiplication: Whole number x fraction <1 E — 72 ©2004 Achievement Learning Professionals



Monday—Week 21 SUPER SIX! Name

0

_____

0 3 — 0 Darius paid $15.57 for a computer

10) 3 2 — game. He gave the clerk two $10
bills. How much change should
Darius receive?

M = Mark all information

A=_________

P=

__________

s=

__________

o 75.0 0 2164 031115_
— 9.5 — 676 16 16

Tuesday—Week2l SUPER SIX! Name

________

0 3 6 2 0 One club has 17 members, and the

10)674 41 0 otherclubhas 13 members. Abus
costs $750 and the members decided

+ 3 8 8 to share the cost equally. How much
will each club member have to pay?

M = Mark all information

A=_________

s=

__________

0 82.90 0 4.9 077x8=
—15.93 x 6

.
+ Division: 2 to 4 digits + 10 or 100 E — 73 @2004 Achievement Learning Professionals

(whole number dividends, with and without remainders)



Wednesday—Week 21 SUPER SIX! Name

0

_______

0 9 5 2 0 There are 120 students in 5th

100)3 95 9 grade. 5/6ofthem play
basketball and 1/4 of them
play soccer. How many
students play basketball?

M = Mark all information

A=_________

s=_________

0 10 0 16.22 0 5
8— 42x—=

15 18.35 6

39 + 12.20

15

.
Thursday—Week 21 SUPER SiX! Name

________

0 2 — 0 Oscar took his father to

1 00) 86 7 7
46 x

— breakfast. They each ordered
scrambled eggs and juice.
How much did Oscar have to
spend? (See T3)

M = Mark all information

A=_________

P=

__________

S=__________

0 5000 0 78.67 0 48 x 100 =

400 + 83.90

+ 26

.
+ OMsion: 2 to 4 digits + 10 or 100 E —74 ©2004 Achievement Learning Professionals

(whole number dMdends, with and without remainders)



Monday—Week 22 SUPER SIX! Name

0

_______

0

_______

0 Leslie’s stepfather cooked some

59)2 6 0 10)9 2 7 ribs from 10:50 a.m. until 5:05 p.m.
How long did he cook the meat?

M = Mark all information

A=_________

P=

__________

S=

__________

o 7.56 0 221 0 2
— x 40 =

— 2.59 x 300 10

.
Tuesday—Week22 SUPER SIX! Name

______

0 6 . 3 0 0 Which two portions of the highway

32) 5 1 8 5 8 8 department’s budget are the
smallest? (See G4)

+ 17.21
M = Mark all information

A=_________

P=

__________

S=

__________

o
4O 0 29.00 0758÷9=

8 — 23.52

-32-p-
8 .

+ Division: 3 digits +2 digits E — 75 @2004 Achievement Learning Professionals
(with remainders)



Wednesday — Week 22 SUPER SIX! Name

+0

_______

0

_________

0 Each day, Kevin walks 3.5 km to

56) 3 4 8 5 ) 4 2 2 9 school and 1.6 km to the sifter’s
house after school. How far
does Kevin walk each day?

M = Mark all information

A=________

P=

_________

S=

_________

03 0 2453 02988÷100=
—x48 =

4 + 82

.
Thursday—Week 22 SUPER SIX! Name

+0

_______

0

_________

0 Riley had $20. She bought a

26)1 0 9 10)8420 pen for$1.59,abookfor$4.88,
a bracelet for $6.50 and a card
for $1.29. How much money did
she have left?

M = Mark all information

A=________

s=_________

0 66 0805 0311÷12=

71 941

+83 8., .
+ Division: 3 dIgits + 2 digits E — 76 02004 Achievement Learning Professionals

(w remakiders)



Monday—Week 23 SUPER SIX! Name

40 1 4 — 0

_______

€) An 8 oz. jar of peanut butter

6 — 85) 7 7 j costs $1.28. What is the cost
of the peanut butter per
ounce?

M = Mark all information

s=

___________

615 0 121 0460÷10=

20 +597

-2--
20

.
Tuesday—Week23 SUPER SIX! Name

§0 5 9 = 0 8 7 0 Tickets to a skating rink are

7 10 x 2 8 $5.25. Jessie is paying for
herself and 8 friends. How
much will Jessie have to pay
for the tickets?

M = Mark all information

A=__________

P=

___________

s=

___________

o 2 0 5.44 04 3 3
—x36= —+—+—=
6 —2.80 9 99

.
+ Fraction Multiplication: Fraction <1 x fraction <1 E — 77 ©2004 Achievement Learning Professionals



Wednesday — Week 23 SUPER SIX! Name

+0 2 2 — 0 2 4 0 1 0 Mail took $10 to the movie for
x —

— 1 6 3 treats. He bought milk duds, a
large popcorn and a small
soda. How much did Mail
spend on treats? (See T4)

M = Mark all information

A=_________

P=_________

S=

_________

o

____

0 641 0833÷88=
100)757 x 5

.
Thursday—Week 23 SUPER SIX! Name

+0 6 1 — 0

______

0 Astore had six pounds of

8
X

— 68) 9 9 1 gummy bears. In three days
they sold 2 3/4 pounds of
them. How many pounds of
gummy bears were left?

M = Mark all information

A=_________

P=

_________

S=

_________

o 152 0 Simplify: 0 9 - 5

x 18 25 18 18

40

+ Fraction Multiplication: Fraction 1 x fraction ci E —78 @2004 Achievement Learning Professionals



Monday — Week 24 SUPER SIX! Name

.+o
3
I

±1—
6

05 2
—x—-=
10 20

O The Riley family needs 1/2 hour to
drive to the airport and 1/4 hour to
park and ride to the terminal. If
they need to be in the terminal by
12:15 p.m., what is the latest time
they can leave for the airport?

M = Mark all information

A=

s=

05
—x24=
8

0 52.1
+ 61.7

0230÷93 =

Tuesday — Week 24

2
5

6
+2—

10

SUPER SIX!

032
3

_Ii
3

Name

.

0 500
x 40

0

0 During which two months did
130,000 people attend movies in
Centerville? (See G 1)

M = Mark all information

A=_______

P=

_______

S=

_______

0 9.6 — 51 =

100)9951

E —79

.
+ Fraction Addition: Mixed number + mixed number

(unlike denominators)
©2004 Achievement Learning Professionals



Wednesday—Week 24 SUPER SIX! Name

+0 1 0

______

0 It is 512 miles from Kansas City to

50) 9 0 0 Dallas. If it is 310 miles from
Kansas City to Oklahoma City,

+ 25 how far is it from Oklahoma City to

6 Dallas?

M = Mark all information

A

_________

P=__________

s=

__________

o

____

0 764 02 3_

46)3 58 — 528

Tliursday—Week24 SUPER SIX! Name

+0 3 0 4 3 — 0 Mr. Lemon has two carts of chairs.
6— — X

—
One has 125 chairs and the other
has 135 chairs. He will put 20

+ 3 chairs in each row. If Mr. Lemon

3 uses all of the chairs on both carts,
how many rows will he make?

M = Mark all information

A=_________

P=

__________

s=

__________

o 900 0 93.3 0 6.65 + 114.2 + 5.1 =

—588 x 76

+ Fraction Addition: Mixed number + mixed number E —80 ©2004 Achievement Learning Professionals

(unlike denominators)



Monday—Week 25 SUPER SIX! Name

O 1 0 2
0 Carol jogged 2.3 miles per day for

x 0 5 5 days. How far did she jog in all?

53 M = Mark all information

8 A=________

P=

_________

s=

_________

o

___

0 91.1 04 1

10)503 47.3 5;

+ 9.8

.
Tuesday—Week 25 SUPER SIX! Name

9. 7 0 9 6 0 In 1950, how many states had

x 6 . 4 5 1 populations greater than 1,000,000?

+ 49 (SeeTi)

M = Mark all information

A=________

P=

_________

S=

_________

0

____

03 0637÷952=
52)569

—x40=

.
+ Decimal Mult: Up to 2 total decimal places m the factors E — 81 ©2004 Achievement Learning Professionals



Wednesday— Week 25 SUPER SIX! Name

• O I . 2 7 0 6 11 0 Lloyd began his homework at 4:10 p.m.

x 8 — 4 5 He finished at 5:50 p.m. How long did he
spend on his homework?

M = Mark all information

A=

_________

P=

__________

S=

__________

022 0681 01 4
—X— 8— +2—=
68 588 3 5

+229

..

Thursday—Week 25 SUPER SIX! Name

5 6 2 0 1 0 Each citizen of Midland must pay $6.00

x 0 96 forswimmingpoolfees. Howmuch

4
money in pool fees will the city of Midland

+ 2±. receive? (See G2)

2
M = Mark all information

A=_________

P=

__________

S=

__________

0 500 0 656.00 0 561 — 283 =

x 39 — 28.71

.
+ Decimal Mutt Up to 2 total decimal places ui the faders E —82 @2004 Achievement Learning Professionals



Monday—Week 26 SUPER SIX! Name

• +0 $ 3 1 2. 1 7 0 3 1 0 @ Mr. Carter bought 2 1/4 pounds of

+ $9 70 . 2 8 0 .2 1 hamburgerand 11/2 pounds of steak.
How many pounds of meat did he buy
in all?

M = Mark all information

A=_________

P=

__________

s=

__________

o

____

0 1731 Oil 88
51)900 — 476

6+ -=

.
Tuesday—Week 26 SUPER SIX! Name

+0 $ 2 1 8 . 9 9 0 6 0 I 0 The distance from Los Angeles to

+ 8 8 6. 3 6 — 24 8 Phoenix is 372 miles. The
distance from Los Angeles to
Portland is 965 miles. How much
closer is Phoenix to Los Angeles
than Portland is to Los Angeles?

M = Mark all information

A=_________

s=

_________

02 3_ 0

____

067x9=
—X—-.-

10)873

.
+ Addition of Money snnn.nn + snnn.nn E — 83 ©2004 Achievement Learning Professionals

(carrying)



Wednesday — Week 26 SUPER SIX! Name

§0 $144.73 0 714 0 lnoneweektheMillerfamilydrove

+ 6 9 9 8 9 x 8 1,827 miles from Tulsa, Oklahoma, to
Bar Harbor, Maine. What was the
average number of miles per day that
they drove?

M = Mark all information

P=

__________

s=

__________

o 6i- 0 69,382 0389x1.12

2 — 57496
4

+3—
18

Thursday—Week26 SUPER SIX! Name

§0 $581 .45 0 540 0 Colorprintingcosts$O.l4per

+ 31 0.64 x 0.13 copy. Whatwillbethepricefor
25 color copies?

M = Mark all information

A=_________

P=

__________

s=

__________

o 69 0 42.95 0400x89
73 — 11.50

+42

.
+ Addition of Money: $nnn.nn + $nnn.nn E — 84 ©2004 Achievement Learning Professionals

(carrying)



Monday-Week 27 SUPER SIX! Name

O Write as a 0 $ 5 8 7 . 6 0 0 What are the 3 most expensive

decimal: + 3 5 8 . 8 1 items at the Bluemonte School

6
Store? (See T2)

10 M = Mark all information

A=_________

P=

_________

S=

_________

0 1 7 0 400 0 46.77 x 11 =
—x—=
28 x359

.
Tuesday—Week 27 SUPER SIX! Name

O Write as a 0 8 0 0 0 Alia had saved $150. She bought

decimal:
— 6 4 2 a bike that cost $135 plus $10.12

4
in tax. How much did Alia have

— . left after she purchased the bike?
5

M = Mark all information

A=_________

S=

_________

0 2 0

____

0555÷6=
54)257

7

.
+ Fractions: Fraction I decimal equivalencies E —85 ©2O4 Achievement Learning Professionals



Wednesday—Week 27 SUPER SIX! Name

• O Write as a 0

_______

Carol estimated her sewing project

fraction: 2) 7 0 9 would take 3 hours and 35 minutes to

0 5 = complete. It must be finished by
4:15 p.m. What is the latest time that
she can begin and be finished on time?

M = Mark all information

A=_________

S=

__________

o 0 58,342 0 $486.81 + $405.24 =

x 9.9 — 21,311

.
Thursday—Week 27 SUPER SIX! Name

O Write as a 0 $ 4 5 8 . 7 0 0 A carton of chocolate ice cream costs

fraction: + 5 8 6 5 3 $4.80. If the fifth graders that chose

0 25 — chocolate ice cream as their favorite
flavor share the cost of a carton, what
will be the cost per student? (See G3)

M = Mark all information

A=_________

P=

__________

S=

__________

0 67.0 0 36—12=
0 758 ÷ 15 =

—39.8 9 9

.
+ Fractions: Fraction I decimal equivalencies E — 86 ©2004 Achievement Learning Professionals



Wednesday — Week 28

.o

-6-p-
8

SUPER SIX! Name

o $622.44

+ 830.96
0

6)195
o Write as a fraction:

0.38 =

Thursday — Week 28 SUPER SIX! Name

.

O
6

-31-p-
4

O Write asa
decimal:
17

100

• Jasmine ordered buttermilk
pancakes, one egg and juice. Stuart
ordered blueberry pancakes and
milk. How much more did Jasmine
spend than Stuart? (See T3)

91)307

M = Mark all information

P=

S=

E—88 @2004 Achievement Learning Professionals

.

7j-
4

0 8 0 0 4 0 Darren rode his bike 18 miles per day

— 2 1 5 3 for 15 days. How far did he ride in
those 15 days?

M = Mark all information

S=

0 04
—x18 =

12
07 4_

9 9_

+ Fraction Subtraction: Mixed number - mixed number
(unlike denominators, with and without borrowing)



Monday—Week 28 SUPER SIX! Name

• +0
8

0 Write as a 0 Mary picked 5 pints of blueberries.

decimal: Lauren picked 3 1/4 pints. How many

4 3 more pints did Mary pick than Lauren?

24 4 M = Mark all information

A=_________

P=

_________

s=

_________

o 0 1 2 3 0 $740.62 + $339.49 =
9— —+—+—=

5 2410
7

+1—
8

.
Tuesday—Week 28 SUPER SIX! Name

+0 5 0 5 8 4 8 0 In five days Mark rode his bike 70 miles.

8 — 1 2 g He rode the same distance each day.
How many miles per day did he ride?

—3---
4 M = Mark all information

A=_________

P=

__________

s=

_________

o 4.60 0 1 4 0 8.1 x 26 =
—x—=

x 86 2 7

.
Fraction Subtraction: Mixed number — mixed number E — 87 @2004 Achievement Learning Professionals
(unlike denominators, with and without borrowing)



Monday—Week 29 SUPER SIX! Name

O 2 . 2 4 0
.

35 0 lan’s family drove for 7 hours at an

x 0 2
2 average rate of 60 miles per hour. How

4,’
many miles did they travel in those

_4.i 7hours?
20

M = Mark all information

P=

__________

S=

__________

o 9 . 4 0 49 . 6 0 Write as a fraction:

x 6.2 + 57.8 0.412=

.
-Tuesday—Week29 SUPER SIX! Name

8 3 . 7 0 7 3 7 0 What percentage of the highway budget

x 0 . 4 8 — 2 7 3 is spent on new roads? (See G4)

M = Mark all information

A=

_________

S=

__________

o $508.52 0 41 0168.3—42.7=

+ $759.85 2
2

+6—
3

.
+ Decimal Mult: Up to 3 total decimal places in the factors E —89 @2004 Achievement Learning Professionals



Wednesday — Week 29 SUPER SIX! Name

• O 0 . 4 6 3 0

_______

0 Dana did 2 chores on Saturday. She

x 7 0 50) 7 0 0 spent 2 1/2 hours mowing the lawn
and 1 1/4 hours weeding her garden.
What is the total amount of hours that
she spent on chores?

M = Mark all information

A=_________

S=

__________

0 Wnteasa 0

_____

0 76 32
decimal: 62) 7 7 4 g 3 —

84
100

.
Thursday—Week 29 SUPER SIX! Name

cO 0.93 81
0 Bnanran26l!2milesdunngone

x 2 6 month, and Kevin ran 20 1/8 miles in
the same month. How much farther
did Brian run than Kevin?

2
M = Mark all information

A=_________

P=

__________

S=

__________

0 300 0

____

087+62÷786=

— 251 10)8 29

.
+ Decimal Mult Up to 3 total decimal places in the factors E —90 ©2004 Achievement Learning Professionals



Monday-Week 30 SUPER SIX! Name

+0 1 .81 + 2.4 = 0 6 0 . 7 0 In one-half of a year Ms. Lopez

0 3 3 paid $864 for electricity. She paid
an equal amount each month.
How much did she pay per month?

M = Mark all information

A=________

P=_________

S=_________

o $160.37 0 36.5 0 16i_9..=
+ $447.54 4.6 2 4

+ 2.9

.
Tuesday—Week 30 SUPER SIX! Name

+0 0.08 + 1 5. 1 66 = 0 5 6. 3 8 0 Mrs. Hickson pays $86.54 per

— 1 9 2 8 month for fuel. How much
does she pay for fuel for the
entire year?

M = Mark all information

A=

_________

P=

___________

S=

__________

o Write as a fraction: 0 1 0 . 3 0 13.03 — 7.9 =

0.6= x 6.4

.
Decimal Addition: Horizontal format E — 91 @2004 Achievement Learning Professionals
(any number of decimal places)



Wednesday—Week 30 SUPER SIX! Name

• O 3.651 + 1 7.1 = 0 7 9 0 The Megaplex Theater sold

+ 9 2 237 adult tickets and 89 student
tickets. How much did the theater
receive from ticket sales to the
students? (See T4)

M = Mark all information

A=

_________

S=

__________

o i 0

____

051.25 x 5.6 =
6-i--

13)845

-3-p-
4

Thursday—Week 30 SUPER SIX! Name

O 6 + 1 2.28 = 0 6 . 0 2 0 Mr. Andrews weighed 253 pounds.

4 5 He lost 23 pounds in the first month
of his diet and 18 pounds in the
second month. How much does
Mr. Andrews weigh now?

M = Mark all information

A=

_________

P=

__________

S=

__________

0

____

0

____

0740—59=

65)547 59)704

.
+ Decimal Addition: Horizontal format E — 92 ©2004 Achievement Learning Professionals

(any number of decimal places)



Monday—Week 31 SUPER SIX! Name

• O 0 . 3 7 0 8 + 1 2. 1 7 = 0 Jill filled her gas tank and went

x 0 2 on a 374-mile trip. After the
trip she needed 17 gallons of
gas. How many miles per
gallon did Jill average?

M = Mark all information

A=

_________

P=

___________

S=

__________

OWriteasa 0350 00.76x0.8
decimal:

— 307
2
5

.
Tuesday—Week 31 SUPER SIX! Name

O 0 . 8 4 1 0

______

0 How many more people attended

x 0 2 62) 6 6 0 movies in Centerville during July and
August combined than in January and
February combined? (See GI)

M = Mark all information

s=

__________

o 84
0 $677.14 07638—65 =

4 + 772.31

16 .
+ Decimal Mulbplication: Factor <1 x factor < 1 E — 93 ©2004 Achievement Learning Professionals



Wednesday—Week 31 SUPER SIX! Name

• O 0 . 2 0 4 3 0 The high temperature in Boise today

x 0 4 8 was 78°, and the low temperature was
41°. What was the difference between
the high and low temperatures?

M = Mark all information

A=________

P=

_________

S=

_________

0 0.834 0

_____

0 1.865 + 29.31 =

5 76)212

Thursday—Week 31 SUPER SIX! Name

0 . 3 0 4.5 + 75.06 = 0 There are 3 fifth grade classes at

x 0 0 3 Rushton Elementary School.
There are 66 fifth graders. If
each class has the same number
of students, how many students
are in each class?

M = Mark all information

A=_________

S=__________

0

___

02 4 0593x2=
3)503 4

.
+ Decimal Multiplication: Factor <i x factor < 1 E — 94 @2004 Achievement Learning Professionals



Monday-Week 32 SUPER SIX! Name

_______

@ 0.22 0 Stacytypedanaverageof23words •
73 ‘ 4 6 7 0 0 3 per minute on his computer. At this

/ rate, how many words could Stacy
type in one-half hour?

M = Mark all information

A=_________

P=

__________

S=

__________

o
96-p--

0 100 031.682 + 7.6 =

5 x39

-28--
2

.
Tuesday—Week32 SUPER SIX! Name

________

0 4 5 8 0 In 1900 the average amount of

67) 1 6 2 4
— 3 8 taxes collected in Idaho was $0.25

per person. How much money did
the state receive in taxes for that
year? (See TI)

M = Mark all information

A=_________

S=

__________

o 50.67 0 Writeasa 0 100 x 256 =

0 . 4 fraction:
0.91 =

.
+ Division: 4 digits + 2 digits E — 95 ©2004 Achievement Learning Professionals

(with and without remainders)



Wednesday—Week 32 SUPER SIX! Name

________

0

______

0 Abookhadanaverageof

71)6 754 5)9 5 8 3O8wordsperpage. How many
words would be on 25 pages?

M = Mark all information

A=_________

P=

__________

s=

__________

o 322.4 ÷ 5.25 = 0 5 0 0.35 x 0.4 =
—x12=
6

.
Thursday—Week 32 SUPER SIX! Name

0 2 Last year the average number of books

59) i 3 0 7 read by the residents of Midland and Troy
was 4 books per person. What was the

± 16 total number of books read during the year

12 by the people in those cities? (See G2)

M Mark all information

A=_________

S=

__________

0 300 03 3 02675÷4=

—266 84

.
+ Division: 4 digits + 2 digits E —96 ©2004 Achievement Learning Professionals

(with and without remainders)



Monday — Week 33 SUPER SIX! Name

O8—o.72= 0
33)2013

O Darren bought 2 types of grass
seed. He bought 6 1/2 pounds
of bluegrass and 12 3/4 pounds
of fescue. How many pounds
of seed did he buy in all?

M = Mark all information

P=

S=

o 21.36
x 0.7

0
7)871

O0.02x0.9 =

Tuesday — Week 33 SUPER SIX! Name

.

-O 82.9 — 6.35 = 0911
12

-4-p-
24

O Sarah had $2025.35 in her
checking account. She
wrote two checks, one for
$136.82 and the other for
$26.85. How much was left
in her account?

M = Mark all information

P=

S=

0 0.537 + 0.06 = o 531
—123

E —97

01 3 1
—+—+—=
884

.
+ Decimal Subtraction: Horizontal format

(any number of decimal places)
©2004 Achievement Learning Professionals



Wednesday—Week 33 SUPER SIX! Name

• O. 6 — 1 .635 = + 6 = 0 Julie has 52 pictures.

11 ii Each page in her photo
album holds 7 pictures.
How many pages can
Julie fill completely?

M = Mark all information

P=

__________

s=

__________

o 0.7 0 1986 03476÷41=

x 0.5 + 2700

.
Thursday—Week 33 SUPER SIX! Name

O 8.7 — 0. 1 25 0

________

0 Jamal had donations of

20)1 8 2 0 $2.55 for each mile he
rode his bike for charity.
If he rode his bike 133
miles, how much would
Jamal collect?

M = Mark all information

A=_________

P=

__________

s=

__________

o 700 048.18 01 2 2
—+—+—=

x 30 x 8 3 12 6.

.
+ Decirnai Subtraction: Hoiizontal format E —98 @2004 Achievement Learning Professionals

(any number of decimal places)



Monday—Week 34 SUPER SIX! Name

<0 1 6 1 . 8 6 376 — 60.46 = 0 Mr. Proctor bought one news

x 6 2
protractor for each student
in his class. He has
19 students in his class.
How much did Mr. Proctor
spend? (See T2)

M = Mark all information

A=__________

P=

___________

s=

___________

0 9.97 + 16.2 = 0 6 _2 0 6148 ÷ 93 =

7 7

.
Tuesday—Week 34 SUPER SIX! Name

2 1 . 9 0 0 . 8 8 5 0 The Green Thumb Nursery has

x 0 2 3 x 1 3 1500 plants. They sold 495 on
Saturday morning between 9:00 and
9:30 a.m. How many plants did they
have left?

M = Mark all information

P=

__________

S=

__________

0 0.9 0 5 2 0 19.28 + 7.9 =
—x—=

xO.7 83

.
+ Decimal Multiplication: 3 to 4 digits x ito 2 digits E —99 ©2004 Achievement Learning Professionals

(any number of decimal places)



Wednesday—Week 34 SUPER SIX! Name

O 7 8 . 6 5 0 5 2 . 9 0 Tom began his report at 7:30 p.m.

x I . 5 — 3 5 . 8 He finished it at 10:10 p.m. How
long did he spend working on his
report?

M = Mark all information

P=

__________

S=

__________

o

_____

0 5 03.95—0.882=
51)4077

—xIO=

Thursday—Week34 SUPER SIX! Name

O 8 . 2 2 8 0 86.5 — 8.483 = e How many more 4th and

x 0 3 5th graders like vanilla
ice cream than 3rd and
6th graders? (See G3)

M = Mark all information

A=_________

P=

_________

S=

_________

o 0.12 0 $932.57 0600÷80=
x 0.5 + 682.79

.
+ Decimal Multiplication: 3 to 4 digits x I to 2 digits E — 100 @2004 Achievement Learning Professionals

(any number of decimal places)



Monday—Week 35 SUPER SIX! Name

cO 72
= 0 8 .26 0 The current record forthe lOOm

x 5 3 dash is 9.84 seconds. It used to be
10.01 seconds. How much faster is
the new record?

M = Mark all information

A=_________

P=

__________

s=

__________

o 0.6 0 8 07.9—6.723=

xO.6 63
+487

.
Tuesday—Week 35 SUPER SIX! Name

O 32
= 8

6 0 A 16 oz. can of tuna costs $4.48. What is
the cost per ounce for the tuna?

+ 12 M = Mark all information

3

P=

__________

s=

_________

0

______

0 0.003 + 21.4 = 0 6.1 + 6.8 + 12.7 =

74)2627

.
+ Exponents: Numbers k the 2nd power E — 101 ©2004 Achievement Learning Professionals



Wednesday — Week 35 SUPER SIX! Name

1 32 = 0 5 8 . 8 1 0 There are 342 students and

— 4 2 6 g 20 teachers at Bluemonte School.
Each teacher receives 9 packages of
construction paper. What is the total
number of packages of construction
paper given to the teachers?

M = Mark all information

A=_________

P=

__________

S=

__________

o 5— 2.517 = 0

_____

092.51 x 2.7 =

62)4 00

.
Thursday—Week 35 SUPER SiX! Name

1 52 = 0 6 . 8 4 1 0 There are 36 inches in a yard. How

.
g many inches are in 3/4 of a yard?

M = Mark all information

A=_________

P=

__________

s=__________

o 5 0 0 0 Write as a 0 636 + 587 =

3 1 decimal:
3
5

.
+ Exponents: Numbers to the 2nd power E — 102 @2004 Achievement Learning Professionals



Monday-Week 36 SUPER SIX! Name

‘. 0

_________

0 52 = 0 Lacy talked on the telephone to a
42) $6.3 0 friend in Germany for 35 minutes. The

total cost for the call was $5.95. What
was the average cost per minute?

M = Mark all information

A=_________

P=

_________

S=

_________

o

_____

0 751 01.09 x 3.6 =

16)1568
— 76

.
-Tuesday—Week 36 SUPER SIX! Name

__________

0 8 1 6 0 The Highway Department will
47) $3 8.5 4 + 4 2 7 spend $59,416.00 for each one

percent of their budget. What
will be the total amount spent
on new bridges? (See G4)

M = Mark all information

A=__________

P=___________

s=__________

o 8.55 —2.2 = 0 0.5 0 922 —484 =

x 0.25

.
+ Division of Money: Dividend <$100.00 + 2 digits E — 103 @2004 Achievement Learning Professionals



Wednesday—Week 36 SUPER SIX! Name

+0

__________

0 3 8 3 2 0 Noah delivered bundles of paper

83) $3 8.1 8 — 9 6 to be recycled. His totals for each
day were 38, 39, 42, 40, and 37
bundles. How many bundles did
Noah deliver all together?

M = Mark all information

A=________

s=

_________

o 0.867 0 72 0212=

x 5.9 86
+20

Thursday—Week 36 SUPER SIX! Name

+0

_______

0 342 = 0 David had $35. He bought

69) $3 8 15 bags of candy for $1 .99 each.
How much did David have left?

M Mark all information

P=

__________

s=

_________

0 7.8 0 52i 098x4

2.7 2

+ 3.0
9

.
+ Division of Money: Dividend <$100.00 + 2 digits E — 104 ©2004 Achievement Learning Professionals


